GROUP F

14

Exploded View : EV EXHAUST 2.4L G16 CPL

Drawing No. : 0K3215

Revision : J-8231-B

Date : 3/28/14




EXPLODED VIEW: EV EXHAUST 2.4L G16 CPL

DRAWING #: 0K2315

GROUP F

ITEM PART# QTY. DESCRIPTION
1 067989 3 NUT HEX FL WHIZ M8-1.25
2 022129 4 WASHER LOCK M8-5/16
3 036797 2 BOLT/SDL U 5/16-18 X 2.125
4 0K2999 1 MUFFLER SADDLE
5 0K3020G 1 BLANKET EXHAUST 2" 1300MM
6 022259 4 NUT HEX 5/16-18 STEEL
7 0K3511 1 MUFFLER STRAP D3.4L
8 0A8974 1 RAINCAP 2"
9 0K2994 1 PIPE EXHAUST D2.4L G16
10 0E3257 4 SCREW HWHTF M6-1.0 X 16
11 0K1927 1 ASSY EXHAUST PIPE D2.4L CPL
12 0K3368 1 MUFFLER 2.4L/3.4L CPL
13 0K1526 4 TIE WRAP, 14.3" STAINLESS STL
14 0K7027 1 EXHAUST TUBE STRAIGHT W/ FLARE
15 022473 4 WASHER FLAT 1/4-M6 ZINC
16 0H1310 1 BOLT U 3/8-16 X 2.30 W/SADDLE

REVISION: J-8231-B
DATE: 3/28/14

Page 2 of 2



